Nanyang Primary School
Primary 6
Mathematics
Term 1 Non-Weighted Assessment

Nams: - ( ) Marks:
Class: Primary 6 { ) 120
Date: Parent’s Signhature:

Duration: 40 minutes
The use of calculaiers is NOT allowed,

Please sign and return the paper the next day. Any queries should
be raised at the same time when returning paper.

Questions 110 3 carry 1 mark each, Questions 4 te 5 carry 2 marks each, For
each question, four options are given. One of them is the correct answer,
Make your choice (1, 2, 3 or 4} and write yeur answer {1, 2, 3 or 4} in the
bracket () provided,
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The jength, breadth and height of a box are in the ratio 3 : 2 © 1

respectively. The length of the box Is 6 cm. Find the volume of the
box,
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The table below shows the number of toys collected by Sunshine
Centre in 2021 and 2022, Part of the table is covered by an ink blot.

The number of soft toys collected and the total number of toys collected
were both three-digit numbers.

Type of Toy 2021 2022
Wooden Toys 121 30
Electronlc Toys 65 74
Soft Toys 200
Total number of {oys 354

Which of the following statemeni(s) can be true?

A. In 2022, 10% of the total number of toys collected were damaged.

B. In 2021, 20% of the total number of toys coliected were elactronic
foys.

C. In 2021, 50% of the total number of toys collected were soft toys.
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Derinda had 25 m of ribbon. She used it fo make as many flowers as

. , 2 . .
possible, She used 5m of ribbon fo make each flower. How many
metres of the ribben were 1eft?
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The table below shows the number of clips in different coloured
containers.

Colour of container Number of ¢lips in each container
White 30
Blue &0
Green 50

Clement has some white containers and some blue containers. The
raflo of the fotal number of clips in Clement's white containers to the
total number of clips in his blue containers 1s 3 1 2.  Express the
numbper of his blue containers as a fraction of the total number of his
containers.
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Questions & to 8 carry 1 mark each, Write your answers in the spaces
provided, For questions which require units, give your answers in the units
stated. (3 marks)

3
5 2 of a plzza was shared equally among 5 people. What fraction of the
plzza did each person receive?

Ans:

5
7 The breadth of a rectangle is gmandits areais 2 m. Find the length

of the reclangle. Express your answer as a mixed number in its

simplest form,

Ans: m

3 Janice is 7 as tall as Xiao Ming. What is the ratio of Xiao Ming's

height to Janice's helght?

Ans:




Questions 9 to 13 carry 2 marks sach. Show your working clearly and write
your answers in the spaces provided. For guestions which require units, give
your answers In the units stated. (10 marks)

9 The ratio of the number of sweels Rachel had 1o the number of sweets
Euodia had was 2 : 3 at first. After Rachel bought 8 more sweets, the
ratio of the number of sweels Rachel had to the number of sweais
Euodia had became 5 1 8. How many sweets did Euodia have?

Ans:

10 Clarence, Amir and Jun Wei received some stickers, The ratio of the
number of stickers that Clarence recelved o the number of stickers
Armir recelved was 4 1 8, The ratio of the number of stickers Jun YWei
recelved 10 the number of stickers Amir recalved was 4 : 3, Clarence
received 24 stickers. How many stickers did Jun Wel receive?




11 Ashraf had some money at first, He spent 10% of it on feod and $140
on a bicycle. He then gave 50% of the remainder to his brother. inthe
end, he had $200 left. How much money did Ashraf spend on food?

Ans: $

12 Amrnt had some sugar at first, He used 42 g of sugar to bake some

5 .
muffins and 5 of ihe remaining sugar (o bake some cookies. In the

1
end, he had z of the sugarleft., How much sugar did he have at first?

Ans: g




Christopher and Helen had 75 erasers altogether at first.  Chiristopher
4 , 2
gave away 7 of his erasers. Helen gave away 5 ofher grasers. In

the end, Helen had 1 more eraser than Christopher. How many

erasers did Christopher had in the end?

Ans:

End of Paper
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Nanyang Primary School
Primary 6
Mathematics
Term 1 Non-Weighted Assessment
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Class: Primary 6 ( ) 120
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Duration: 40 minutes

The use of calculators is NOT allowed.

Please sign and return the paper the next day. Any queries should
be raised at the same time when returning paper.

Questions 1 to 3 carry 1 mark each. Questions 4 to § carry 2 marks sach, For
each question, four options are given. One of thern is the correct answer.
Make your choice (1, 2, 3 or 4) and write your answer (1, 2, 3 or 4) in the
bracket ( ) provided.
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The ter}qth, breadth and height of 2 box are in the ratio 3 : 2 1 1
respectively. The length of the box is 8 cm. Find the volume of the

box.
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The table below shows the number of toys collected by Sunshine
Centre in 2021 and 2022. Part of the table is coverad by an ink biot.
The number of soft toys collected and the total number of toys collected
were both three-digit numbers.

Type of Toy 2021 2022 ‘
Wooden Toys 121 80 !
Electronic Toys { {85 /f' ; 74

Soft Toys ! 200 ;
Total number of toys (384

Which of the following statement(s) can be trua?

A, In 2022, 10% of the total number of toys collected were damaged. X

B. 1n 2021, 20% of the total number of toys collected were glectronic
toys. ¥

C. 1n 2021, 50% of the total number of toys collected were soft toys. s

A) L))

() Acny todook 3642304210 T4 ;Oqiuj( toral wiert c\e@mniqo\f;
2 Cony ¢ >3hA Total 265X 5
@ Nog chsi\o\e 4o Nav =315

(3) BandConly However  he sainimuen posgible ot

04 dosmaned
arcoged TS S ig0 3bb

(4) ABandC

) (2 )

T 507, of total were sols toys, WIE 507 o eotal
WHE =5\ 1 6518 2
Thert could be 186 Sef o




Derinda had 25 m of ribbon, She used It to make s many flowers as

. 2
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possible. She used 3 m of ribbon 1 make each flower. How many
metres of the dbbon were 7
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Tre teble below shows the number of chps in different coloured
contamens. .

[ 'Sut G coNtaner TNumber of clips in each container
: 30
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Cemenr. Nas some wnite comamners and some biue containers. The
reno of the totsl number of chps in Ciement s white containers o the
ot number of cips in his Diue contamers is 3 : 2. Express the
fumner of ms biue contaners as 2 fractron of the total number of his
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P6 Maths WA1 2024 Paper 2 Word Problems — Nanyang

Show your working clearly in the space provided for each question and write your
answers in the spaces provided. Questions can be found at the end of the worksheet.

6. ~+5=—

7. Length = Area + Breadth

5 12 2
2+2=2=22
6 5 5

8. Xiao Ming : Janice ratio =7 : 5

9. Rachel Euodia
At first 2 3
X2u 4u 6u
Intheend 5u 6u

Rachel before/after difference = 5u — 4u = u
u=8

Number of Euodia’s sweets = 6u =6 x 8 = 48

Ans: 48

*Challenging SgTestPaper.com



P6 Maths WA1 2024 Paper 2 Word Problems — Nanyang

10. Clarence Amir Jun Wei
Ratio 4 9
Ratio 3 4
x3 9 12
Ratio of all 4u 9u 12u

Number of Clarence’s stickers = 4u = 24
u==6
Number of Jun Wei’s stickers =12u=12x6 =72

Ans: 72
11. Remainder = 2 x $200 = $400
90% of original amount — 400 + 140 = $540
10% — 540 + 9 = $60 = amount spent on food
Ans: $60

*Challenging SgTestPaper.com



P6 Maths WA1 2024 Paper 2 Word Problems — Nanyang

12.
429 1u 1u 1u Tu 1u 1u 1u
Muffins Cookies % of original
left
% of original — 2u a
Original amount — 7 x 2u = 14u
Amount for muffins = 14u —7u =7u a
7u=42g . "
u=42+7=6 c
Original amount of sugar =14 x6 = 84
0@ Ans: 84g
13.

Gave away

Left

Ans:

*Challenging SgTestPaper.com






